=2 &

LIV T NN EYE SR L PSS P
#B HEe AR AT

o AHBRTBME  FEORREFNERF L Ew (%) FAF TS
= ARFRABAERE ARSH ERFEALITEIHALEHE ME%$4>Q
o ARAERE AREA TR
o ARMEMAERT S8R ZER T3
CARAR T B o s RIHRT REREAHE -

o e

AR (BEAR £ 508 B2 o BHTE)

. AL Adksteroidib R 0 T MM E R EEAL BHE LW
(A) FRERERIFE
(B) 3 Aoy IR
C) REBBY Bh B E
(D) #im R BRINBEHHEE
. #3132 A B #F0.45% Sodium chloride » 35 M bR N AR RN > 2 BWNTF FTHEER?
(A) 5%
(B) &7k
©) Bk
(D) RAE &4 |
C KB FHE— R 0 F AT L %32 5 5 4 78 Byimmobility #) & 75 2
(A) FRIEARKRSH R
(B) — A3k EHESH
(C) #3048 %  KREE TR
(D) wHF—RERE RIESILHAE
CRRERRHERTEEELE THALARES
(A) 2L
(B) 6L
(C) 8L
(D) 10L
CEBE o BARLERE  BEABRRSEHREA?
(A) PR By 1209 5
(B) 384 B A 4% & gbib sk
(€) %1% &RibH%BERE
(D) Aok 5 AR AT
CERRARBEER  RAAES > THAMHEFZAERERBEETAL 6 HFHR?
A)“BERBISHEZRIHEETE
BY“RE— % » REH WS EIEM
(C) “ho RAR WL BT ATl s”
(D) “5% i o s i B T AR IE RAR M R AR
CERRIEMAEG  MPISE o HEAGBAF LTINS S L R I AR A?
) 218

j&h
e




(A) P34
(B) R4 % %
(C) £ ak Hut
(D) B1315-20048 T —x

8. — LR RF W R T BERRY ) THMERERAERS TG B E?
(A) R EmBEEHE
(B) BB E B BRE RI9H I
O RIEHERAVELER -2

(D) RIEEHFRRI R BN

0. HEABEEMA B F M0 R 82 (small-for-gestational age; SGA)Z B 2 B A 4 » BTHEBEH

57

(A) Hyperthermia
(B) Hyperglycemia
(C) Congenital defects

- (D) Hypothermia

10.7F 74 & R BE 20 & R $F46 58§ 99 IR A2

(A R~ B~ o~
(B) 3 - % - B - b
©) %~ 4o WY - BB

(D) 25 ~ ABY - dods ~ B2
UL E o & 6 F Ak s 4t B 8 R 58/ B2 411000 mleh ik - 25 A7 B 2l 8 A15 qits/ml » 32 A 8 BB A%
HRPEA T T H?
(A) #15qtts/min
(B) #23 qgtts/min
(C) #31 qgtts/min
(D) #60 gtts/min
12832 A BRI E P 3B (CVP)BAEHS » B4 A ASRECT 54 #5402
(A) 44
(B) A 1al%%
(C) ¥ 4EA
(D) & B A i 5%
13.F 51 & Bt g 2 58 4R ?
(A) FeiE
(B) gz
(C) & EiF
(D) =F A KFk
14.7F 54 & R RGP sl M 4
(A) &8 % o R FRLA
(B) iR MG & 4T
C) HBRF BN

W
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(D) HEABSBEAMGGHREY
15, S A RBEMA A BWMYERIER B LT 54752
(DAeRAR QRBAR Q)LFELM DAE LA
A) (I3
(B) L+
C) @OH3)
D) @+HH
16.7 B &8P sk 243K » T 7475 44387
(A) 7 ANIR B REEA R,
B) WwhEuBHEHRL
(C) KB B#IF41-43C
D) &R AANEE » Bibse b R4
.ot Rg KB EmmAMETEH BN Lsd - TRAESEa ML ERE?
(A) Isometric Exercise
(B) Stretching Exercise
(C) Resistive Exercise
(D) Shoulder Rotation
B FAHMRME R R G HAZ S Bl - 74 52
(DA & QB A RS QMR ERL OIHRE LTS
A4 (H+3)
B) (@)D
€ @G
D) 1)+GCr4)
19.7F #1474 % 7t & 2% 7% Tachycardia?
(DEeRTHE QR Qs OB
A (1)H2)+(3)
B) (OH2)+4)
© G
(D) ()G
20.7F 2 Boad 47 - 45317
(A) SoB &3l LSA
(B) AR F G LR
(C) Hh® BT 3] Aese % o /R F
(D) HEMinn B4 A NP ES 8%
218 B9 A5 % 8% A (Hyperventilation) 76 & & » F 2lT4 A LH2 B HR2
(A) et BEAHE - REAA
B) #4% FRE#H  AREBL
(C) F4E8M HE > TRERR
D) AEH& > $REmH
22.7F Fl48 3l #hAK 4258 (Sitz Bath)ag B a9 478 & 357

3R




(A) BEERLFIARMR » LM E %
(B) FREEI; » FH AL
©€) BhFaEETZhh
(D) REALFIR 0 RIER > EH RS
VHREERRZAA pEREREOUHRREE  BASBRFREN > 85 ST &M A?
()47 (QRdndy (3)Gsudeyi () FiBH
(A) (1))
(B) (3)+4)
(€ (H+3)
D) @+
24 HIFA B TR AMA LILAEHVIL KIS » FTHMAA KBS Z 4
(A) R E
(B) A% #Malat
©C) #HE
D) LE=Am
25. 8B AU 2 Sl 0 F TR B 3k?
(A) "R AT B R A SRS R
B) FRE - RERFHER
©) EiFLERERMLE
D) BB REATRART » AU RN ITEY
26.F A EFRES EHCENASARE R BRI BE  BEABBRHE T o705 T M ER?
(A)Y R 4tHER
(B) #eBR 4 5 A
(C) BEH H A
(D) #ILR G & A
2T NEEANE S XA R REE G HE AWM R4F R - B EIKF100R 4 0
SOAPH X & B ¥k ToaHA "0, thEM?
(A) B & B & » BRIF100R 4
B) A&
(C) #32 A B W Bh IR 4T 8B
(D) X¥AA -
BB Y RALHEFAER "R RES RAGRES .  EEABRL TRAE
WA D HBARAMBERANBEERTA
(A) @
(B) B#
(C) Rwk
(D) 7% 3
9. FIMTHAR G —BABHEAETHETEASTARE?
(A) BEFREKAFHEIE
B) I 2ERS

4R



©) T A—BHER
(D) BEix PR E R N 1%
0B RERIE—F > MBRLBACHERNENER - HRSR - FHFRE - AR~ “ﬁxﬁ
ERFARY - S ERERETEEHE TITREE?
(A} # ¥ 5
(B) &%
(C) #7H
D) &%
BlAEvBRNEREL (DR R QFRUFREL QOBTAY - ¥R FHES ORTASGES;
Oy rHEREEE -
(A)125
B)234
(€)345
(D)134
32,5 £ B 150/90 mmHg 4~ %) ++ B k4% & (pulse Eomm:_,ou B34 B (mean pressure ) A 477
(A) W& B 60 mmHg » 34 4 8110 mmHg
(B) B&k#% 110 mmHg » 3 f B 60 mmHg
(C) Ax4% B 60 mmHg » F-34 2. B 120 mmHg
(D) #%4% B 120 mmHg » F34 42 60 mmHg
33T PR M AT R Bk & 35 (penicillin skin test) #9403k » FakE 4
(A) Gl & k& E
(B) x5 B /E B15~455
(C) BEEHHMAANY FRAM
(D) 4B F 50.1~02ce. » 300~5008 4z (LU.)
JABAMESREHRE  BABRMARGEEGRES K
(A) LEPFFRMERRBENTRE > BUKI SR EFERIONE
(BY REEMZAR 2RI EB T BT L bk BEA
(C) HERBAFHREBRTSBEHER
(D) B EIGFRBEH HFI05EBBFHE » HoRR12~24 i 74 B4R
5. K IPEAR G ZBARBA - BAEFERML C(DFE QT C)ERET ONFaE )W -
(AY123
(B)345
(C)235
{D)234
3. THAMARERAL TR EIN 2 ABPATERESHH B Y2404 - EE8  (DTHREME
fE QTHFILAGNE CVAREMEER ORI ELE -
A1z
B)24
©13
(D)3 4



3T THAMELZAGHB GBS ME X ST FHYMMW » EoEE 5
(A) Al h SEABIRREESREE
(B) HHAMES > BEER AN
(C) B BRERG > HRREMSH - BHGITANE S
(D) HEBHILRAEG  ERE - BHaF R
3BHIZABAIOMEA Reg &0 F HHATIA LS - TR b Esk b
(A) HBBEANMBFTEG a8 2 ERAER .
(B) MEER $48 B 8 4o by 4155 » 4018 G455
©) HRAFHEEHNG > EBHELEY
(D) Fi¥ 67k 4% o304 B B S A1 AL
9. RAEREHEMARGH » KEriksonsy OB RITWN » iFR D B E TR ERE
& ?
(A) BAFTEEfE E&RF
B) £HAFE
(C) RFsigise
(D) Himm %
0.8 MR LB E R RN AR A ERERIERT 71— B3R ?
(A) HBhBR
(B) ik
(C) o kBk
(D) M #h 8k
ALBRA KB F4512/0 5% 0 R3b 5k HEABTRAMEF B HE 2 (DA FBRFHA LY -
RPN QIRFREF  TRAZABMELERE CeBith OWREBNILFEBAL
CERS e
(Ay12
(B)23
(C)24
(D) 3 4
REBTFEHEEGERRERE THAFRERTT PR FERAALAT | JHHMEAEIEAS
BB ST EE AT ?
(A) B %6 AR RN T 0 BT 2K |
(B) R oI EARERE FRAEFRAMT ?
©) AAARBRGEER? A ﬁ%%w#fﬁﬁwﬁmﬁo
(D) KA ERAEMRTN  KREFERIREE B
435 P4 TR EE e4EE 0 TR AMEHEBRY?
(A) BHEEHT AR RTHHEAEEE
(B) #% vy BEBRFS LA e 22 4 4 B
C) EHPENZHALE R
(D) B4 I 454 T4
AHNF BB E RO R AL AN E TR EE S EE? (IS ARYBE OBRLE

FO6R



R EL 3)E R AR EESAS TR (kbR B $e oy T REME
(A) 12
B)3 4
()13
(D)2 4

DBDERRBAHREHLE > BB FAE KT BEABBSHZEETEL - (DRET&E
Eo QBEARATER NBRAEY OMUERANSN B ARIREH @RS NIR SEH -
(A)12
(B)23
(C)24
D)14

46. 81 5 & B 1% 14 1B M B 75 (chronic obstructive pufmonary disease)m AIZ © L% L HITARIPH -
THREIEAIEAATLERM? ()IREHRF ARG S REE QMRE LY B ED
CUEH SR PRI (DE AR - BABE OMIRs - EEHIRTE
(AY123
B)235
(C)245
(D)134

AT Jotlk 5 2 AT A B A R T SU4THER &85 > AR B ¥ 2 8 4 &% ? (1M F Aspirin
HQOREBRARESEE OFEMIL OERTRPHL -

(A)Y13
(B)24
Cy123
D)234

BETEFAMHT > BEEDTEEA OFBIA QOBLRE S BA  AEBE AEHEBHE
FHE R
(A)12
(B)234
(C)123
D) 124

498 MMAEAE 2 A AL > T A ALlfTH423% 2
(A) & HBEBREK TR (Cheyne-Stoke respiration )

(B) vk & F % » BT I
O R NMEERY
(D) BB b de o » BERI®F L
50.% B & % 2 % (hospice care)sy 32 4 » FF| it a7 A 9k ?
(A) REBMEL —B ey BHE
(B) ok ~ 58 2 845 BAR (L 10 385 A 63 4% 5 0 ® 9F 34 B (care) i 5
C) BRE2A LR - 2RRACONBLLBE
D) S ft ke bk AeE AR M

TR



THREFETLESASZ _FHHE R L AREGA WA

ﬁm“W%m%_ AR EE A 548

—~AABREBEEL  SRAEAREANERFLER (KE) FAAFHS

S ERFRABAENSE - SR ERFEEAXITEZMA LTS » FRARTHS
E - RBAEERE  FEEAEFH AR -

W ARMEEALRE TS EER TS -

E~ABRBRA TR wEeS  BAWRS SEREAHE -

4 e W

B (R % 5088 BM2 5 0 KB RER)

. BB E RAT  BAET ST A D

(A) S5

B) £5 %Y

(C) MRz

(D) R ¥

. AWBEAR > THIERITE?

A) BRARBYEBLERE

B) A5 FREHERF XA BE@BE

(C) AL F R He it X385 o P

D) Ay FRBRETREARBETRESLS

o EaBRtEE 22 SR TFREEAAER?
(A) 55

(B) 45

(C) &

(D) 434 & # 2 # F 18 ¥ (ligand-gated ion channel)

. WA RRAILE RE SRS N (length-Torce) #98i4k » T oMTE5k .88 9
(A) MLEi RERKE » 8 (active force ) EN@ikssH
(B) AL# & BARAE » A8 W48 7 (passive force AKX
©) M REMRE » EBHRBARK

D) M -REMR > E8HREHIARKX _

- MR R AR EREIA S - T SMTE Rk ?

(A) SR WCHRES > B8 7 353

(B) E#H » A INE AT

(C) & itk > R HFH o

(D) XA EIFWIEH v IR

. BRSPS - T R R AR P

(A) FRALE

(B) 8 ~ fmL &k o o] B0 B ALIR

(C) e & & ta i F 22 (cytoskeleton)

(D) E&UCHE 7 o & & 2 UG 3 B R Sl 41

#®1H




7. FRALE mALER o RN FTE ?
(A) Z&
(B) mLit
(C) &% # (dense body)
(D) s #(intercalated disks)
8. MMBUE#R » THMERLER?
(A) ROaLE
B) RFFMA
(C) REBNA
D) AR BREHIE
9. MM mpgA M (blood brain barrier) » F #4748 & L5k ?
(A) Rase 8 R\PEIER
(B) #3082 % B AR R L9
(C) MAldiy FayREBEAN RS
(D) BB A & ta vz ey FHE M (tight junction)7H A&
10 R A BT EEHRET—K?
(A) X&hk
B) ~EAk
(C) Hif
(D) #Hk
LT 3| Ae B BR AR SR A9 E » T HMTH & ek 7
(A) sa#iz(histamine)
(B) A & % (endothelin)
(C) #% H /& 4 (vasopressin)
(D) E%¥ k¥ (norepinephrine)
12 B ERARNMKB G EMTFTE  RAETHTE?
(A) B it
(B) 5 B
(C) wE &R
(D) =% Aislt
BARBEAGERKE B My EF - T HMTH4683% 7
(A) Befadksn o
(B) #ivsa BB
©C) BrusBREER
(D) #hbEnNn R EBEER
L4 T P4THNE R - SR RSE (ADHD 8 53k & 3w 2
(A) E#% KT
(B) & F1lAHEHRA
(C) B FlafayBRkRBA
D) HFIAANEREFERBER

#%2R



15 & T i #Brdk (glutamine) @ Mk » BB BE I L HANT I ETR—E?
(A) MREIF
(B) FAMRE®
(C) B/mF ¥
D) ®AE#E
16. WP e@ik o ik T 7B AR EAE ?
(A) 2EBLHERE
(B) % 3B M 8 HrH]
C) RinpsBRHE > THBER
D) "ERFRTRE BN P TRE
178 F RS- T EREZBE » FTHMTHRERE?
(A) 5%
(B) &l FHARE
O 1,25 & 44 KDy (1, 25(0H):Ds)
(D) g &4 FDs(cholecalciferol, AE458E)
IBEFANBLOHRERYTH - Rbol KeB  FHEFRE  BEAERBEET ERAER
TE - BaETHEA(cortisol M - £ 28K - A THARHREE  REBREILBEAFLZESE
BREEFT LRAERTE?
(A) A3k F 3% (Glucagon) & L4
(B) & FRE Erg i d ¥ UACTH & Lot
(C) 4% 8 5 'H88(11-deoxycorticol) &_:H#
D) ACTHSHE B Lae i § F 88 £F(CRD ¥ R EE Lt
19 FHT#E#® » BAESMBEEREEI TR M?
(A) A8
(B) L4 2E ¥ FHRAUH
(C) E4& B-F LR RETA|
(D) 44 K £ (Glucocorticoid)
0 ABNEBTHEZART LETHEE?
(A) #iftmpp BB RMYE
(B) kB 8%
(C) LAk A = 43
D) RetFs B LEREMRRA
2L EQEZRB DTN FQRFGMEE S ENBTER A
(A) (1)(2)3)
B) (1)(3)2)
(O @)3)
D)F(1X2)
RTHMENRBSEF OV FRARARE T
(AR & EEHNE
BYHE S RMeF

#3R



(O THEH® 2
(D) BT £ 5 8 46
AEE TR
(A) S ELFRIF » BERMA BN 5 d ki AL T RE
(B) AR - B EWH B A e E
(C) B WCHRBE » 3 10 I0% LA 1 AR 390 B B e S T o 2 B
(D) & ESPFRAF X B ARIE BB By Wt B B 65 &
24. B Z B fm Mo (Parietal cell) T 4 2
(A) e ¥
B) #xk
C) f#:T
(D) énse T
25. F FUATH R R F AR BRAR AL 70 % iy 43 4 9
(A) W g
(B) H#E 3o
(O 25 £:7:1
(D) H#gntin
6. FFAM AL E DG VIR AN TRE ?
(A) #4 F48
(B) Bkt
(C) Bt d i3
(D) BEWH Fie
27. B RS R E UM A B R
(A)y = Apaz
(B) £H@
(C) mmivse
(D) k& 42
mw.W%.mymawmmw%mmﬁzgaommmv%m%%ulﬁw__ﬁ%mwmwm ?
(A) Bk
(B) RsRy
€) mE®
(D) Fa
29. R (Asthma) 5 1 85 A %% 8 o % (Wheezing) » %% T 71 A Ve 2 ?
(A) &£,
(B) =&
©C) AR T4,
(D) B E %k ,
30.F A1 7R B ik % Ko & w5 (Tetralogy of Fallot) 4 2 s i 2 % 9
(A) = 5 ¥ faskdg
(B) % ¥ [gékdg

#4H



(C) A&y Bk ok %
D) HFERK
31. AR %95 #% £ 7% % (Human immunodeficiency virus: HIV)E A AR A ¥ » T EHXBHZL
(A) CD4+ cell
(B) CDg+ cell
(C) CDyot cell
(D) CDyyt cell
RATHEEHIEFRERASHRENL
(A) = Lfhag
(B) B4
C) BEaEmrse
(D) #EF74
33,38 7% fn i 48 45 (cell injury) &k % Re R B B 4T 9
T S
(B) tu4 ¥R 3
(C) #2 4,
(D) WiE PG
4B ERE BRI — T ARG
(A) s78ET
(B) sn#E-T
(C) R#ET
(D) 458+
35 fk 8 (Uric acid) RATFEM B 9 R Bt A ¥ ?
(A) gk
(B) #okiuédy
(C) ko2
(D) wLEg
36. F T H B K S BB R SRz ?
(A) /NBr P isk-% (Secretin)
(B) B & v £(CCK)
(C) F &9 ™4 B F(Intrinsic factor)
(D) #AFE
3ITETFRPFEHGETEE L
(A) 5 %
B) & ¥
C) &
®) 7¥
38. T FUATH % S BT 4R B ?
(A) BBtia SR AL 48
(B) Bl p4E 8 AL4F TR

%5%



(C) 444
D) $hie
39.F F AR — 1R & FIX&R#BEA 2
(A) R
B) #£4&
©) #Fxw
O) Lxkw
0. FIIMTH RSB A W) 2 88 8 ©
(A) BRiBMH
B) @t o
© seimzy
(D) ## 348 X, % (schlemm’s canal)fd
41 ABE AR #0458 & 04
(A) 4.5%-7%
(B) 16%-20%
(C) 50%-70%
(D) 75%-90%
42, ﬁ%ﬁ?ﬁﬁ%@%@ﬁﬁ%%%ﬁ& FldAe ?
(A AT BEImAR
(B) BEHF5wRE
©) BEE 55w
D) FiaeEmmwre
DBPE T R8P WITHRTRE?
(A) ABSEBEBILE # (human chorionic somatomammotropin)
(B) A 4% £.BM 42 4 (human chorionic gonadotropin)
C) &1 %3&0@0&
(D) 842 #{progesterone)
T FIH R 515 B BRFEBZIGH 0 s H gm0
(A) # %~k (specificity)
(B) # % =KW E+ (second messenger) 4 g
©) RERFL2E (receptor)
(D) ok Raga
AS.REMBYTFE R % BB BfT ?
(A) o 7o — B( estradiol ). & B % &9 (progesterone) 4 s % #% 3 oz Hr
(B) s ke — B 2 5y 22 89 5 3t 2% 403k > 2
(C) drxdps F (inhibin) 55 3% pa 2 34
D) danE BEE(FSHR & FLH)H w20 2 3
46. & SR B K B S PR B Y i 2
(A} #6045 3 35 b 3% o
(B) #fn B sn J& 34 o

#6H



(C) S BB 58 B D
(D) fa sk Rl B
47.F Pl #8 H 5T 244 Ak A 3 3% % (Melatonin) ?
(A) #7 3% 77 ¥ (serotonin )
(B) % &% (dopamine)
(C) ¥ LBt #% (epinephrine)
(D) E ¥ :ae%(norepinephrine)
B EFHYT 8 £ %K% & (immunoglobulin}E A + 48 %% ?
(A)IgA
(B) IeE
(C) IgG
(D) IgM
49 AT AR AL 35 R A AR dh SR M A
(A) o EB%
B) Mk 2B
©) MARBKX
(D) &8 B 47 (aldosterone)R f& 4% 3%t
50. B S AR RAREF 0 R IR T AT E R D
(A) w3k
(B) ks
(C) o EmAh
(D) #IRTA K (compliance)

#7TR



N AREFETLBEARE _SHHEL L AREPE A RN
A RERX HREM ATk

— AHBREMAE  FRETEANERF L e (L) FURFHS -

S BRTRABAERS ABSR ERZBEAITHZHBLER  FAARTFHS -
= AWM AN ) REERETHAM -

W ARHEEMELE e EERPH S -

E-ARBE T H wERY o BB S EREEMAE -

RAEAE (B £ 400 BH2S5 5 KHT )

1. The picture is out of focus. Would you please it slightly please?
(A) adapt
(B) adjust
(C) adopt
(D) change
2. The government is launchinga ___ against smoking.
(A) act
(B) action
(C) campaign
(D) company
3. What’s Jane like? She’s very .
(A) goad
(B) nice
(C) well
(D) better
4,  Keith was E:&:m. on the phone, the door opened and John came into the room.
(A) While
(B) That
(C) Although
(D) Because
5. You_ bring dogs into the restaurant.
(A) must not’
(B) would must not
(C) does not must
(D) cannot must
6. Garyis _ than Wayne.
(A) fit
(B) fitter
(C) fittest
(D) more fit

7. Nonews _ good news.

1R




(A)is
(B) am
(C) are
(D) was
8. My cousin has moved _ New York.
(A)outof
(B) aside
(C) beside
(D) out
9. Stephanie is coming to visitus __ the summer.
(A) at
(B)on
{C)in
(D) till
10. Tt was a lovely morning  Tom felt depressed.
(A) and
(B) but
(C) because
(D) so
I'1. For your health, it is important to what you eat.
(A) contain
(B) monitor
(C) continue
(D) digest
12. Like healthy kidneys, dialysis your body in balance.
(A) keeps
(B) destroys
(C) reserves
(D) insists
13. A tension pneumothorax occurs when air enters, but does not leave the pleural space,
complete collapse of the lung.
(A) causing
(B) causes
(C) cause
(D) caused ,
14. Women can HIV to their babies during pregnancy or birth.,
(A) refer
(B) release
(C) transmit

(D) maintain

#2R



15. Development of the therapeutic relationship can be challenging, not just due to the nature of the person's
mental illness or distress, because the person may be detained in a psychiatric hospital and
be So.omi:m treatment against their will under mental health law.

(A) but also
(B) no matter
(C) however
(D) no longer

16. and me:_mﬂ physical exercise is an important component in the prevention of some of the
diseases of affluence.
(A) Heavy
(B) Intensive
(C) Comfortable
(D) Frequent

17. Diabetes mellitus caused by the lack of the hormone called Insulin which is needed to help the
body convert food into energy.
(A) has been
(B) to be
(C) was
(D) is
18. From birth until the child begins to speak, they are referredto ___ an infant.
(A)at
(B) as
(C) become
(D) be
19. Excessive consumption of alcohol is most likely to liver over a long period of time.
(A) weak
(B) damage
(C) effect
(D) benefit
20. Patient : “Oh, doctor! I suffer terrible headache!”
Doctor :  “You should stay in bed for a few days and take some rest.”
(A) from
(B) of
(C)at
(D) in

21. Your friend is waiting for you to finish what you’re doing and you say, *___.’

(A) One moment
(B) At moment
(C) Minute

(D) Just a minute

%37



22. Youmeet a friend at the airport on arrival and you might say, ¢ Taiwan.’
{A) Welcome to
(B) Be welcome to
(C) Welcome in
(D) Well you come to
23. You fail to hear what someone says to you, so yousay, ¢ 7
(A) Pardon
(B) Well
(C) Forgive me
(D) Hello
24. You’re refusing food that is offered; you say, © .*
(A) Thank you
(B) Thanks
(C) No, thank you
(I2) No more
25. You thank me for holding the door open and my response might be, ¢ .’
(A) Fine
(B) Nothing
(C) Please
(D) It’s a pleasure

Reading Comprehension (26-30)

The cardiovascular system is composed of the heart, boold vessels, and blood. Blood travels through this
closed circular system, continuously moving through the heart, into the arteries and their smaller branches.
It continues to the_ 26 . Then, it moves to the branches of the vein structure, and back to the heart. The
heart serves asa _ 27 _that keeps blood moving. Arteries carry blood from the heart to body organs and
tissue. Veins carry blood to the heart from the tissue and body organs. Blood leaves the left ventricle and
goes through the arteries via the aorta, also called the grest artery. The superior vena cava drains blood from
the _28 portion of the body, and the inferior vena cava carries blood from the _29  part of the body to
the right artium. The “used” blood then moves into the right ventricle, which contracts to send the _ 30
to the pulmonary artery.

26. Which of the following is better for item 26?

(A) capillaries

(B} sinus

(C) bronchiole
(D) septum
27. Which of the following is better for item 277
(A) womb
(B) bomb
(©) pump
(D) clock
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28. Which of the following is better for item 287
(A) upper
(B) lower
(C) lateral
(D) dorsal
29. Which of the following is better for jtem 297
(A) upper
(B) lower
(C) lateral

(D) dorsal
30. Which of the following is the better word “used” blood?

(A) WBC
(B) deoxygenated blood
(C) dioxide
(D} Packed blood
Reading Comprehension (31-35)

Calcium is the most common mineral in the human body. About 99% of the calcium in the body is
found in bones and teeth, while the other 1% is found in the blood and soft tissue. Calcium levels in the
blood and fluid surrounding the cells (extracellular fluid) must be maintained within a very narrow
concentration range for normal physiological functioning. The physiological functions of calcium are so
vital to survival that the body will demineralize bone to maintain normal blood calcium levels when calcium
intake is inadequate. Thus, adequate dietary calcium is a critical factor in maintaining a healthy skeleton.

A low blood calcium level usually implies abnormal parathyroid function and is rarely due to low
dietary calcium intake since the skeleton provides a large reserve of calcium for maintaining normal blood
levels. Other causes of abnormally low blood calcium levels include chronic kidney failure, vitamin D

deficiency, and low blood magnesium levels that occur mainly in cases of severe alcoholism.

31. What does our body do when calcium intake is inadequate?
(A) release calcium from bone
(B) absord calcium from small intestine
(C) dissolve muscle and assoil calcium
(D) decrease elimination of calcium
32. The word vital in the passage is closest in meaning to
{A) unvaluable
(B) important
(C) redundant
(I>) nonsignificant

33. All of the following are the causes of low clacium level except

#S5R



(A) abnormal parathyroid function
B) mrnoao kidney failure
(C) insuffient Vitamin D
(D) low dietary calcium intake
34. Which of the following is the major reason of low calcium level caused by severe alcoholism?
(A) calcium level is diluted by alcohol
(B) increase urinary excretion of calcium .
(C) competition between alcohol and caleium for reabsorption in the kidney
(D) decrease blood magnesium level
35. Which of the following is necessary to maintain calcium level?
(A)VitD
B)VitB
(C)VItE
D) Vit C
Response Questions (36-40)
36. Patient : What should I do if T have feet edema?

Nurse :

(A) It’s because you’re bleeding.
(B) Don’t worry. They’re quite normal.
(C) Just try to exercise more.
(D) Raise your feet to improve blood circulation.
37. Nurse : What brought you to the ER yesterday?
Patient :

(A) A couple of hour ago.

(B) Sure, do you have a pen?

(C) T had severe chest Umms yesterday morning at 10.
(D)) The cab driver raced me to the ER yesterday.
38. Nurse * The doctor has agreed to your discharge.

Patient :
{A) Good, T can’t wait to go home.

(B) That’s fine, I won’t take any medicine.
(C) Yes, I have one bag at my house.
(D) But I don’t feel like taking a rest.
39. Nurse : Was there any pain?
Patient :
(A) Yes, I had cramps in my stomach.

(B) Yes, I need my family to sign a consent form.
(C) Good, I hope the bleeding is not serious.
(D) Is that surgery painful?
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40. Where can I buy aspirin?
. (A) There’s a post office across the street.
{(B) There’s a drugstore at the corner of the street.
(C) The best restaurant is not far from here.

(D) Cross the traffic light, and you won’t miss the bank.
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